
45. Income elasticity

1. Missing words

Income elasticity of demand measures the extent to which a change in income affects _______________. It is often abbreviated to YED. Unlike price elasticity of demand, income elasticity can be either __________________ or ___________________. Most goods have a __________________ income elasticity of demand. If a product has a positive income elasticity of demand, when income increases, demand for the good ___________________. Goods for which demand increases (approximately) in line with rising incomes are called ________________ goods. Goods for which an increase in income is followed by a more than proportionate change in demand are called ___________________ goods. However, for some goods, an increase in income will lead to a fall in demand. These goods have a __________________income elasticity of demand. These goods are called ______________________goods. HINT: words from luxury, positive, inferior, demand, normal, negative, positive/negative, positive/negative, increases 

	2. Calculations (1)

2.1 What is the formula for calculating income elasticity of demand?  ___________________________________

2.2 In America’s Midwest in early 2008 a 1% fall in real incomes led households to cut back their spending on anti-ageing creams by 10%, yet they spent 5% extra on meals at McDonalds.

ai) Calculate the income elasticity of anti-ageing creams (in the Midwest) ________________________________ 

aii) Are anti-ageing creams luxuries, necessities or inferior goods? ______________________________________

bi) Calculate the income elasticity of McDonalds (in the Midwest) ______________________________________

bii) Are McDonalds meals luxuries, necessities or inferior goods? ______________________________________

3. Match the letters to the numbers, i.e. one from the middle & one from the right column to match 3.1 to 3.4.
Types of product

Matching maths

3.1 A normal good

A. Eating out at an expensive restaurant

V. Negative YED

3.2 A luxury good

B. Buying rolls of toilet paper

W. Income elasticity of +0.1

3.3 An inferior good

C. Buying an umbrella

X. Positive YED much higher than 1

3.4 A good with very low income elasticity (highly income inelastic)

D. Buying clothes

Y. Income elasticity of exactly +1

E. Tesco Value Baked Beans

Z. Positive YED of around 1

4. Calculations (2)

Manchester United has calculated that its football shirts have an income elasticity of around +0.8. In 2007/08 sales of its shirts brought in £20 million to the club. The Chief Executive has just seen the UK Treasury’s June 2008 economic forecast. It says that the most pessimistic independent forecast for 2008/09 incomes is a change of -1.9% and the most optimistic is +2.7%. The Chief Executive has decided that there will be no price changes in shirts for the coming year and wants you to work out:
4.1 The worst case forecast for Manchester United shirt sales (in £s) in 08/09 ____________________________
______________________________________________________________________________________

4.2 The best case forecast for Manchester United shirt sales (in £s) in 08/09 ______________________________

_______________________________________________________________________________________
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